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Abstract

It has been proved before that a regular n-polygon inscribed regular m-polygon.
When m=3o0r4, n is any number, there is a solution. In this article, I will discuss the
regular n-polygon inscribed regular m-polygon (n>m=>5). , there is a solution when (n,
m) satisfies which relationship.

In the research, I started from the minimum (6,5) and discussed in ascending
order. I found that there are some laws with solutions (called standard forms), and I
tried the laws through the standard forms. At the same time, when (n, m) is a general
number, find out what kind of situation must have no solution, so as to explore and
verify when the general term has a solution.

After finding the solution relationship, explore the rules and find out how to

create the composition, and use GGB to create the composition.
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